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Sem -VI (MOP)
C.A. & B. Statis

Full Marks : 70
Pass Marks : 28

Time : 3Hrs.

Answer all 20 guestions from Group A, cach question
Carries JJ Ph’f”]‘r{."n'.

qu-A ¥ g 20 9T & IR €, UAD W T AN 1 A E |

Answer all Five questions from Greoup B, each guestion
carries 4 marks.

g9-B & Wit ufa weal & 9av <, @ ue & A 4 3@ 2 )

Answer all Five questions from Group C, each question
carries & marks.

7u-C @ woft o= vl & TR Q. AlS U B A 6 A0S 2 |

All parts of a guestion must be answered at one place in
sequence, otherwise they mav not be evaluated.
s ugd @ wll aiel &1 9aw ga f sre (errrar s o)
el arfey, aae 4 oifd 98 o wed &

The figure in right hand margin indicate marks.
S gred & IS QUIie & qab @ |
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GROUP-A

I.  Choose the most suitable answer from the following

options :

1x20=20

watfere Sugad fadey &l gaa fod -

(1

(11)

Visual method of representation of presenting
data is.

(a) Diagrammatic

{b) Number

(c) Largest

(d) None of these

fFreaor sifest &1 g¥qd & @)
gftera fafer &

(&1 fazwa

(@) 3w

(@) 9a9 asT

@) 39 A *IS 7

Standard division 1s always computed from
{a) Median

{(b) Mecan

(¢) Mode

{d) None of these
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Gy g9Tg e 9da . | gR&fera (iv) R dIg whiX fedl faavor & n IR
fopar wimam 2 | SIEXAT W¢ dl n &1 I & &1
E‘ﬂ)) it dEd 2|
9) e (er) fa=e
(0) sgers _ () IRFERET
(@) 379 & BIg T8 (&) aRadt
(=) =rey
(iiy  Which of the following is the most uncertain
P ——
;':;r\‘;“—;:’_!‘ = =3 (v) 12 L— 0% commission on a sale ol Rs. 1760
a) Mode o g 2
(b) Median 2 2 .
(¢) Geometric mean g g \T I”ﬁ:,;'
(d) Harmonic mean = = () 176
2 . (b) 220
i PrafaRaa 4 @ &1 wa s 2. 2. (c) 440
22 3 =3 (d) 110
- = =
(31) qge 2 2 ) 1760 T @ fa@t wx s 12 Lo g
o S -
() wmeara®T 3 = (a1) 176
(&) Teni<R "y @) 220
2) B 5 HTE
() aucds ey () 440
%) 110
(v) It any score is repeated N times in a )
distribution. then what we call n of score. _ , : . . :
. (viy  What will be the mode of the following
(a) Variate ) =
(b) Frequency numbers 6,8, 9.8,9,10, 11,9
(¢) Variable (a) 8
(d) Mean (b} 6
(c)9
(d) 10
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{vii)

(vil)

(vinn)
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e el &1 ggdsd Far e
6,8 9, 8 9, 10, 11, 9

(31) 8

(@) 6

(W) 9

() 10

News paper publication 1s
(a) Primary data

(b) Secondary data

(c) Both

(d) None of these

HITER U3 U1 ¢ |
(a1) wreafires wis

(@) fghaes ans

(|) i+l

() 599 4 $Ig 81

A trader sells an article for Rs. 600 at a profit
of 20% the purchase price 1s

(a) Rs. 500

(b) Rs. 505

(¢c) Rs. 440

(d) Rs. 404

P.1.0O
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(vii) Ud fapdl U 9% 20% ATH AN

(1x)

(ix)

(%)

600 © ¥ d9dl ©, 9] Bl Y Yo ©°7
(31) 500
(d) 505
(W) 440
() 404

Which of the following ratio 1s equivalent

5:35

I
(b)25:40

I
(d)y45:75

Which of the following 1s important for the
uniformity of the facts.

(a) Editing

(b) Counting

{¢) Decimal

(d) None of these
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(%)

(x1)

(xii)
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Sl ¥ vHeudt a1 & fev
frr=rfaRaa 4 9 a1 smavas 27
(31) wruTEH

(@) e

(%) <eridd

(2) 3519 & &I &)

S0 Paise = ... Rupees
{a).5

(b).05

(c) .005

(d) .0005

50 W1 = U
(31) 5

(@) .05

(W) .005

(&) .0005

[n an examination 550 were successful and
45% of the total candidate failed. The
number appear was :-

{(a) 1300

(b) 1100

{(c) 1000

{(d) 900

P. 1.0
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(xn)

(xmi)

(xn1)

(xiv)
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gfler § 550 Icdfor gy 45 ufaera
arepeliol gy @l wden A wwfaa ga
Bl @) Gy @ar off?

(3r) 1300

(d4) 1100

(&) 1000

(=) 900

Father of method of diagrammatic
presentation of data 1s.

(a) Struges

(b) William Plafair

{¢) Lorenz

{d) Bernoulli

gH®l &1 REt g Feger @) f[(fe &1
SFHETAT HIFT SI1dT &:

(31) weoia &I

(a) faferm @war

(|) oo

GESIGIK]

What is the average of 20, 22 and 30 ?
{a) 22
(b) 18
(c) 24
(d) 30

https://www.sbtediploma.com

wiod ewopdipaigs mmm//sdy
[dipa1q . y



wod ewo(dipaiqs mma/sdny

NO1O4

(X1v)

(xv)

{xv)

{xvi)
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20, 22, 30 @1 A/ AT 27
(ar) 22
q) 18
(W) 24
() 30

The mid value of the class 20-30 is
(a) 25
(b) 10
(c) 20
(d) 30

2030 & 99 BT HIEYHH B
(1) 25
(€) 10
(#) 20
(&) 30

The ftather of statistics 1s :
(a) Marshal

(b) Gollfricd Achenwall
(¢} Galton

(d) Bowley
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{xvit)
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qika®! et & SHeTar &
(a1) wTgic

(€) WierwIse 3rm-dre

(|) Tree+

(T) 98

Which quartile 1s median of data sct.
(a) First

(b) Second

(¢) Third

(d) None of these

AD ® Hhad d I 91 ageles aftasn
Bidl 2 |

(31) werH

(1) fadra

(w) qelra

(c) s99 9 @lIg w1

The sum of deviation of the items of the
series 1s zero from :-

(a) Median

(b) Mode

(¢) Arithmetic mean

(d) Geometric mean
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ity Aol @ ual @ faaast &1 a4l g
3
o

(x1%)

(x1x)

(xx}

glar 2 |

(a1) et 9

(@) Tgas 4

(|) Tor=a¥ #wew 9
(]) i wEew @

Methods of classification is
(a) Geographical

(b) Chronological

{c) Qualitative

{d) All the above

giftavor &) fafer 82—
(a1 #tifas

(a) wHATIER

(&) ToncHE®

(g) Suxiga wl

Express Rs. 898.904 correct to nearest paise.
(a) 898

(b) 89890

(c) 898.9

(d) 8990
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(xx) 898.904 &1 el A UW & wi+idc
aqad o |
(31) 898
(4) 89890
(|) 898.9
(<) 8990

GROUPB
Answer all Five Questions.
il 9fg gl & SR 1 |

2. Discuss the method of caleulation of intrust on
recurring deposit account 4

4x5=20

arradt ST Wrar uv &gt @ orEr &) fafey
@) fadasn Sifee

OR (31214T)

What 1s Discount? How many types of discount
are there?

=T &7 27 931 &l feaq wrn A faarioa
fbar rar 27
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Define Harmonic mean with example.
EXIcHd ATl bl AIaTexvl gRAfdd &Y |

OR (31214T)

Charactenistic of a good report?
sredhl Rad & o &t ford |
Make a table of Decimalisation of area.

SABe b SIHAdIANT & arferdr g-rd |

OR (3121d1)

Find out the mean from the following data Income
Rs. 50, 100, 200, 500, 2000, 3000, 4000.

=1 99 @ w1ed S1d S AT S 50, 100,
200. 500, 2000, 3000, 4000.

Distinguish between questionnaire and schedule.
geIaell Ud agdl ¥ iav wWee & |
P.T.O
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OR (3121a1)

Define quartile with suitable example.

reAd H SUHdd ISRl d urel afvafya
&Y |

Write short notes any two of the following:-

(a) Diagrammatic Representation 4
(b) Secondary data

(¢) Decile

(d) Range

fFrafafRga & @ f g = wféra feoof
fore:

(a1) fazwa yaslva yis

(@) fahas sifes

() s

() fawar

OR(312714T)

A person sells a horse on Rs, 2,500 and gain 10%
profit what is the cost of the horse?

U fad Udh UlST 2500 © H dddY 10%
drtH HATAT & dl 918 &1 $Ha Hed A g’
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GROUP -C

Answer all Five Questions.

gl 9fg g9 @& SN o |

7.

6x5=30

What are the various steps of classification and
tabulation of data?

[{]
diwel & YAldror ¢d affeeer & faf-
HEH T B°

OR(312141)

Find out the price of 145 dozen of bananas at
Rs. 2.25 Paisa per dozen by preparing a table of

nine values.

2.25 09 ufey gof9 @) a¢ 9 ¢S Targac
diferd! g ar 145 qold ol &1 Hed Mard |

What is statistics? Explain the importance of

statistical methods in business.

6
wiflegal gar 87 eraary H wifegary faferay
& Wed & qHsIT |
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OR (31214r)

How can mode be determined graphically ?
u1% gRT Yfisss &8 Fraren o wear 272

A watch dealer is allowed 5% cash discount in
addition to 10% trade discount. Find how much
will have to be paid for a bill worth Rs. 2,575 and
50 paise.

0 paise 6

v g3l famar 1 10 gfrera aargeiRa «@gr
@ afaRea 5 yfaera T agr A faar sirar
2 dl 2575 % 50 B0 & ua fdw & fov
foa=1 THe gHTIT 'M?

OR(312141)

Find the mean deviation of the following series.

Size 10 [11/12]13)14]
Frequency |3 (12181123 ‘

frefeRaa uewrenn @1 wiey faaes Frara:

ST 10 11
3 |12

- B

_ 3
2

121314
18123
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What 1s census method of statistical investigation?
Describe 1is merits. 6

HiRerd argdur 1 |aorr fafy qan 22
gg® O &1 9vfq Sy |

OR (3t12141)

Write short notes on any three of the following.
(a) Simple bar diagram

{b) Standard deviation

(¢) Purposc of Report

(d) Dispersion

fFrerfaRaa & 9 fad) e oy wigra feagofy
fored—

(31) Wt <vs fa=

@) wwrg faaas

(@) Ruld @ seem

() arafevor

Discuss essential elements of a good average as a

measutre of central tendency. 6

=g ydfa &) 410 & U A A< Heg b
ATaTYH dcd @ fadg=r e
P.T.0
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OR (372r41)

A trades allows 20% trade discount and 5% cash
discount. If the price list value of an article 1s
Rs. 1200/- find its selling price.

Udh MY 20% ATYRY 987 Ud 5% Tdal 9l
qar & | afe & aeg &1 gA 1ou 1200
gl d Sust fwa ger qang |

wede
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